DRIGINAL

Kansas Corporation Commission Oil & Gas Conservation Division

October 2008 Form Must Be Typed

WELL COMPLETION FORM WELL HISTORY - DESCRIPTION OF WELL & LEASE

OPERATOR: License # 33988	API No. 15 - 081-21856-0000
Name: LeBosquet Gas Operations, LLC.	Spot Description: C SE/4
Address 1: _535 So. Emporia, Ste 103	C _SE Sec. 23 _Twp. 30 _S. R. 34 _ ☐ East ✓ West
Address 2:	1320 Feet from North / South Line of Section
City: Wichita State: KS Zip: 67202 +	
Contact Person:Darrell_Duncan	Footages Calculated from Nearest Outside Section Corner:
Phone: (316) 264-6722	□ NE □ NW ☑ SE □ SW
CONTRACTOR: License # 33784	County: Haskell
Name: Trinidad Drilling LP	Lease Name: Anton Well #: 3
Wellsite Geologist: Tom Pronold	Field Name: Hugoton
Purchaser:	Producing Formation: Chase
Designate Type of Completion:	Elevation: Ground: 2960 Kelly Bushing: 2967
New Well Re-Entry Workover	Total Depth: 2960 Plug Back Total Depth: 2958
OilSWDSIOW	Amount of Surface Pipe Set and Cemented at: 607 Feet
SWD SIOW Gas ENHR SIGW	
CM (Coal Bed Methane) Temp. Abd.	Multiple Stage Cementing Collar Used? ☐ Yes ☑ No
Dry Other (Core, WSW, Expl., Cathodic, etc.)	If yes, show depth set:Feet
(Core, WSW, Expl., Cathodic, etc.)	If Alternate II completion, cement circulated from: 621.79
If Workover/Re-entry: Old Well Info as follows:	feet depth to: 2930 filled to surface w/ 225 sx cmt.
Operator:	Drilling Fluid Management Plan Alt I NOR 4-3-09
Well Name:	(Data must be collected from the Reserve Pit)
Original Comp. Date: Original Total Depth:	Chloride content: 3000 ppm Fluid volume: 80 bbls
Deepening Re-perf Conv. to Enhr Conv. to SWD	Dewatering method used: Evaporation/Backfill
Plug Back:Plug Back Total Depth	Location of fluid disposal if hauled offsite:
Commingled Docket No.:	
Dual Completion	Operator Name:
Other (SWD or Enhr.?) Docket No.:	Lease Name: License No.:
12/08/2008 12/11/2008 02/10/2009	QuarterSecTwpS. R East West
Spud Date or Date Reached TD Completion Date or Recompletion Date	County: Docket No.:
Kansas 67202, within 120 days of the spud date, recompletion, workover or c of side two of this form will be held confidential for a period of 12 months if red	the Kansas Corporation Commission, 130 S. Market - Room 2078, Wichita, conversion of a well. Rule 82-3-130, 82-3-106 and 82-3-107 apply. Information quested in writing and submitted with the form (see rule 82-3-107 for confidencell report shall be attached with this form. ALL CEMENTING TICKETS MUST rm with all temporarily abandoned wells.
ire complete and correct to the bear of my knowledge.	the oil and gas industry have been fully complied with and the statements herein
Signature: // // // // // // // // // // // // //	/ KCC Office Use ONLY
itle: #66W1 Date: 3/6/09	//
Subscribed and sworn to before me this	Letter of Confidentiality Received
	If Denied, Yes Date:
009	Wireline Log Received
Pate Commission Expires: 9/24/09	Geologist Report Received
Date Commission Expires: 9/24/09	UIC Distribution TH (3/1/9)
· · · · · · · · · · · · · · · · · · ·	KANSAS CORPORATION COMM

REBBECA O. RHOADS

MY COMMISSION EXPIRES Saptember 24, 2009

MAR 0 9 2009

CONSERVATIONDIVISION WICHITA, KS

DRIGINAL

Side Two

Operator Name: LeBo	squet Gas Open	alions, L	.L	Lease	e Name: 🚣			Well #: _3_	
Sec. 23 Twp. 30	S. R. <u>34</u>	☐ East	t 🗸 West	Coun	ty: Hask	ell			
INSTRUCTIONS: Shortime tool open and clos recovery, and flow rates surveyed. Attach final Q	ed, flowing and shu if gas to surface te	it-in press est, along	ures, whether s	hut-in pre	essure rea	ched static leve	l, hydrostatic	pressures, bottom	hole temperature, fluid
Drill Stem Tests Taken (Attach Additional Sh	neats)		′es ☑ No		□L	og Formati	on (Top), Dep	th and Datum	Sample
Samples Sent to Geolo	,	⊘ Y	∕es □No		Nam			Тор	Datum
Cores Taken Electric Log Run (Submit Copy)		/ □ Y	∕es ✓ No		Chas Herri Kride	ngton		2550 2590 2630	+417 +377 +337
List All E. Logs Run: DIL, CNL-CDL									
				RECORD					
Purpose of String	Size Hole Drilled	Siz	ort all strings set-c ze Casing et (In O.D.)	We	surface, inte eight s. / Ft.	ermediate, produc Setting Depth	tion, etc. Type of Cemen		Type and Percent Additives
Surface Pipe	12 1/4"	8 5/8"		24#		607	Lite Class		3% CC, 25# Floseal
					-		Common	150	3% CC
Production Casing	7 7/8"	4 1/2"		10.5		2810	Class A	550	Floseal, Gilsonite
,	,,		ADDITIONAL	CEMENT	ING / SQL	EEZE RECORD			
Purpose: Perforate Protect Casing	Depth Top Bottom	Туре	e of Cement	#Sack	s Used		Туре	and Percent Additive	s
—— Plug Back TD —— Plug Off Zone									
Shots Per Foot			RD - Bridge Plugs					ment Squeeze Reco	
2 spf 2	2718-2742, 26		Each Interval Perf		3-2612			of Material Used)	Depth 00 cu ft
						N2 foam a			
TUBING RECORD: 2 3/8	Size:	Set At: 2480		Packer /	At:	Liner Run:	Yes 🗸] No	
Date of First, Resumed Pro	oduction, SWD or Enh	г.	Producing Meth		Flowing	Pumpii	ng 🔲 Ga	es Lift Oth	ner (Explain)
Estimated Production Per 24 Hours	Oil E	Bbls.	Gas 1	Mcf	Wate	r B	bls.	Gas-Oil Ratio	Gravity
DISPOSITION	OF GAS:		м	ETHOD OI	F COMPLE	TION:		PRODUCTI	ON INTERVAL:
☐ Vented ☑ Sold (If vented, Submi	Used on Lease		Open Hole ✓ Other (Specify)	Perf.	Dually	Comp. Cor	nmingled	Chase	



24 S. Lincoln Street P.O. Box 31 Russell, KS 67665-2906

Voice: Fax:

(785) 483-3887 (785) 483-5566

BIII Tô: John W Lebosquet Gas Operations

125 N Market Suite 1130 Wichita, KS 67202-1774

INVOICE

Invoice Number: 117531

Invoice Date: Dec 11, 2008 1

Page:

CustomerID	Well Name# or Customer P.O.	Paymen	t Terms
Lebos	Anton #3	Net 30	
Job Location	Camp Location	Service Date	Due Date
KS1	Liberal	Dec 11, 2008	1/10/09

The state of the s	(Vices and Vices					1/10/09
Quantity	Item	· 方式为400	Description		Unit Price	Amount
	MAT	Gel			20.80	83.20
8.00	1	Chloride			58.20	465.60
200.00		ASC CI	ass A		18.60	3,720.00
350.00		Lightwe	ight Class A		14.80	5,180.00
11.00		Salt			23.95	263.45
47.00	i .	CD-31		İ	9.35	439.45
1,200.00	i	Gilsonit	e		0.89	1,068.00
38.00	1	Defoam	er		8.90	338.20
500.00	MAT	WFR-2			1.27	635.00
87.00	MAT	Flo Sea	1		2.50	217.50
631.00	SER	Handlin	g ·		2.40	1,514.40
25.00	SER	Mileage	631 sx @.10 per sk per mi		63.10	1,577.50
1.00	SER	Product	ion Casing		2,011.00	2,011.00
25.00	SER	Mileage	Pump Truck		7.00	175.00
1.00	SER	Manifold	d Rental		113.00	113.00
1.00	EQP	Guide S	hoe		169.00	169.00
1.00	EQP	Insert/FI	oat Collar		254.00	254.00
7.00	EQP	Centrali	zers		51.00	357.00
1.00	EQP	Basket			169.00	169.00
1.00	EQP	Top Rub	ber Piug		62.00	62.00
			-		02.00	02.00
ALL PRICES AF	RE NET, PAYABL	E	Subtotal			18,812.30
	OWING DATE OF	F	Sales Tax			778 44

INVOICE. 11/2% CHARGED THEREAFTER. IF ACCOUNT IS CURRENT, TAKE DISCOUNT OF



ONLY IF PAID ON OR BEFORE

\$\$\$ \$Jan 10, 2009 ₩\$\$\$\$\$\$\$\$\$

Subtotal	18,812.30
Sales Tax	778.44
Total Invoice Amount	19,590,74
Payment/Credit Applied	10,000.14
TOTAL	19,590.74

RECEIVEL)
KANSAS CORPORATION COMMISSION

MAR 0 9 2009

CONSERVATION DIVISION WICHTA KS

ALLIED CEMENTING CO., INC.

REMIT TO P.O. BOX 31

27064

	~ /	UU	4
ERVICE POINT:			

RUSSELL, KANSAS 67665	<u>Liberal KS.</u>
leng Trup In the	
DATE 12: 11:08 SEC. TWP. 30 RANGE 34 W/	CALLED OUT ON LOCATION JOB START JOB FINISH 6:00 7:30
LEASE Antan WELL # 3 LOCATION Sata	COUNTY STATE
OLD OR (NEW) (Circle one) W. In to	ta K-S. 1-W, 1/2N, Hastell K.S.
W. 14 to	
CONTRACTOR Trinidad 208 TYPE OF JOB 4/2 Production	OWNER
HOLE SIZE 7 1/8 T.D. 2960	CEMENT
CASING SIZE 41/2 DEPTH	AMOUNT ORDERED 350 (5/75-2%) 4. E
TUBING SIZE DEPTH DRILL PIPE DEPTH	200°K ASC 10% Salt, 5# Gilsonite 2% (sel .5% FL-160, 25% CD-3)
TOOL DEPTH	2% (sel .5% FL-160,.25% CD-3)
PRES. MAX 3000 MINIMUM	COMMON@
MEAS. LINE SHOE JOINT 21, 75	POZMIX @
CEMENT LEFT IN CSG. PERFS.	GEL 4.00 @ 20.80 83.20
DISPLACEMENT 48 BBC	CHLORIDE 8.00 @ 58.20 465.60 ASC 200.00 @ 18.60 3.720.00
EQUIPMENT	Litercight 350.00 @ 14.80 5180.00
	Salt 11.00 @ 23.95 263.45
PUMP TRUCK CEMENTER Kirby Kenny	CD-31 47.00 @ 9.35 439.45 CD: 150nite 1200,00@ 0:89 1.068.00
#471-469HELPER Cesar & Rian BULK TRUCK	Diformer 38,00 @ 8.90 338,20
#458-462 DRIVER Angel	WFR-2 500.00 @ 1.27 635.00
BULK TRUCK	Floseal 87.00 @ 2.50 217.50
# 457-239 DRIVER Doug	HANDLING <u>631.00</u> @ <u>2.40</u> 1.514.40
J	MILEAGE
REMARKS:	TOTAL 15,502.30
1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1	,
- I hank You!	
- rank you.	SERVICE
- rank you	DEPTH OF JOB 2960 F+
- Nank You .	DEPTH OF JOB 2960F+ PUMP TRUCK CHARGE 2011.00
- Nank You .	DEPTH OF JOB 2960 F+ PUMP TRUCK CHARGE 2011.00 EXTRA FOOTAGE @
- Nank You -	DEPTH OF JOB 2960 F+ PUMP TRUCK CHARGE 2011.00 EXTRA FOOTAGE @ MILEAGE 25 @ 7.00 175.00
- Nank You .	DEPTH OF JOB 2960F+ PUMP TRUCK CHARGE 2011.00 EXTRA FOOTAGE @
	DEPTH OF JOB 2960 F+ PUMP TRUCK CHARGE 2011.00 EXTRA FOOTAGE @ MILEAGE 25 @ 7.00 175.00 MANIFOLD 1 @ 113.00 113.00
CHARGE TO: Lebosquet	DEPTH OF JOB 2960 F+ PUMP TRUCK CHARGE 2011.00 EXTRA FOOTAGE @ MILEAGE 25 @ 7.00 175.00 MANIFOLD 1 @ 113.00 113.00 @ @ @
CHARGE TO: Lebosquet STREET	DEPTH OF JOB 2960 F+ PUMP TRUCK CHARGE 2011.00 EXTRA FOOTAGE @ MILEAGE 25 @ 7.00 175.00 MANIFOLD 1 @ 113.00 113.00
CHARGE TO: Lebosquet	DEPTH OF JOB 2960 F+ PUMP TRUCK CHARGE 2011.00 EXTRA FOOTAGE @ MILEAGE 15 @ 7.00 175.00 MANIFOLD 1 @ 113.00 113.00 @ TOTAL 2299.00
CHARGE TO: Lebosquet STREET	DEPTH OF JOB 2960 F+ PUMP TRUCK CHARGE 2011.00 EXTRA FOOTAGE @ MILEAGE 25 @ 7.00 175.00 MANIFOLD 1 @ 113.00 113.00 @ @ @
CHARGE TO: Lebosquet STREET CITY STATE ZIP	DEPTH OF JOB 2960 F+ PUMP TRUCK CHARGE 2011.00 EXTRA FOOTAGE @ MILEAGE 15 @ 7.00 175.00 MANIFOLD 1 @ 113.00 113.00 PLUG & FLOAT EQUIPMENT 4 / 2
CHARGE TO: Lebosquet STREET	DEPTH OF JOB 2960 F+ PUMP TRUCK CHARGE 2 0 11.00 EXTRA FOOTAGE @ MILEAGE 15 @ 7.00 175.00 MANIFOLD 1 @ 113.00 113.00 @ TOTAL 2299.00 PLUG & FLOAT EQUIPMENT Y/2 Guide Shoe 1.00 @ 169.00 169.00
CHARGE TO: Lebosquet STREET CITY STATE ZIP To Allied Cementing Co., Inc.	DEPTH OF JOB 2960 F+ PUMP TRUCK CHARGE 2011.00 EXTRA FOOTAGE @ MILEAGE 15 @ 7.00 175.00 MANIFOLD 1 @ 113.00 113.00 PLUG & FLOAT EQUIPMENT PLUG & FLOAT EQUIPMENT Guide Shoe 1.00@ 169.00 169.00 Tasce + / Float Collar 1.00@ 254.00 254.00 Centralizer 7.00@ 51.00 357.00
CHARGE TO: Lebosquet STREET	DEPTH OF JOB 2960 F+ PUMP TRUCK CHARGE 2 0 11.00 EXTRA FOOTAGE @ MILEAGE 1.5 @ 7.00 175.00 MANIFOLD 1 @ 113.00 113.00 PLUG & FLOAT EQUIPMENT PLUG & FLOAT EQUIPMENT Guide Shoe 1.00 @ 169.00 169.00 TASCI + / Float Colleg 1.00 @ 254.00 Basket 1.00 @ 169.00 169.00 Basket 1.00 @ 169.00 169.00
CHARGE TO: Lebosquet STREET CITY STATE ZIP To Allied Cementing Co., Inc. You are hereby requested to rent cementing equipment and furnish cementer and helper to assist owner or	DEPTH OF JOB 2960 F+ PUMP TRUCK CHARGE 2 011.00 EXTRA FOOTAGE @ MILEAGE 15 @ 7.00 175.00 MANIFOLD 1 @ 113.00 113.00 @ TOTAL 2299.00 PLUG & FLOAT EQUIPMENT SERVE 4/2 Guide Shoe 1.00@ 169.00 169.00 Tasce +/Float Colleg 1.00@ 254.00 Centralizer 7.00@ 51.00 357.00 Barket 1.00@ 169.00 169.00 Tap Plug 1.00@ 62.00 62.00
CHARGE TO: Lebosquet STREET CITY STATE ZIP To Allied Cementing Co., Inc. You are hereby requested to rent cementing equipment and furnish cementer and helper to assist owner or contractor to do work as is listed. The above work was	DEPTH OF JOB 2960 F+ PUMP TRUCK CHARGE 2 011.00 EXTRA FOOTAGE @ MILEAGE 15 @ 7.00 175.00 MANIFOLD 1 @ 113.00 113.00 @ TOTAL 2299.00 PLUG & FLOAT EQUIPMENT SERVE 4/2 Guide Shoe 1.00@ 169.00 169.00 Tasce +/Float Colleg 1.00@ 254.00 Centralizer 7.00@ 51.00 357.00 Barket 1.00@ 169.00 169.00 Tap Plug 1.00@ 62.00 62.00
CHARGE TO: Lebosquet STREET CITY STATE ZIP To Allied Cementing Co., Inc. You are hereby requested to rent cementing equipment and furnish cementer and helper to assist owner or contractor to do work as is listed. The above work was done to satisfaction and supervision of owner agent or contractor. I have read & understand the "TERMS AND"	DEPTH OF JOB _ 2 9 60 F+ PUMP TRUCK CHARGE
CHARGE TO: Lebosquet STREET CITY STATE ZIP To Allied Cementing Co., Inc. You are hereby requested to rent cementing equipment and furnish cementer and helper to assist owner or contractor to do work as is listed. The above work was done to satisfaction and supervision of owner agent or	DEPTH OF JOB _ 2 9 60 F+ PUMP TRUCK CHARGE
CHARGE TO: Lebosquet STREET CITY STATE ZIP To Allied Cementing Co., Inc. You are hereby requested to rent cementing equipment and furnish cementer and helper to assist owner or contractor to do work as is listed. The above work was done to satisfaction and supervision of owner agent or contractor. I have read & understand the "TERMS AND"	DEPTH OF JOB 2960 F+ PUMP TRUCK CHARGE 2011.00 EXTRA FOOTAGE @ MILEAGE 15 @ 7.00 175.00 MANIFOLD 1 @ 113.00 113.00 @ TOTAL 2299.00 PLUG & FLOAT EQUIPMENT PLUG & FLOAT EQUIPMENT SOLUTION SHOP 169.00 TASC: +/Float Collar 1.00@ 254.00 254.00 Centralizer 7.00@ 51.00 357.00 Basket 1.00@ 169.00 Tap Plug 1.00@ 62.00 62.00 TOTAL TOTAL CHARGE
CHARGE TO: Lebosquet STREET CITY STATE ZIP To Allied Cementing Co., Inc. You are hereby requested to rent cementing equipment and furnish cementer and helper to assist owner or contractor to do work as is listed. The above work was done to satisfaction and supervision of owner agent or contractor. I have read & understand the "TERMS AND"	DEPTH OF JOB 2960 F+ PUMP TRUCK CHARGE 2011.00 EXTRA FOOTAGE @ MILEAGE 25 @ 7.00 175.00 MANIFOLD 1 @ 113.00 113.00 @ TOTAL 2299.00 PLUG & FLOAT EQUIPMENT SONS 4/2 Guide Shoe 1.00@ 169.00 169.00 Tasce + / Float Golda 1.00@ 254.00 254.00 Centralizer 7.00@ 51.00 357.00 Basket 1.00@ 169.00 169.00 Tap Plug 1.00@ 62.00 62.00 TOTAL 111.00 TAX
CHARGE TO: Lebosquet STREET CITY STATE ZIP To Allied Cementing Co., Inc. You are hereby requested to rent cementing equipment and furnish cementer and helper to assist owner or contractor to do work as is listed. The above work was done to satisfaction and supervision of owner agent or contractor. I have read & understand the "TERMS AND"	DEPTH OF JOB 2960 F+ PUMP TRUCK CHARGE 2011.00 EXTRA FOOTAGE @ MILEAGE 15 @ 7.00 175.00 MANIFOLD 1 @ 113.00 113.00 PLUG & FLOAT EQUIPMENT FUGA Shoe 1.00 @ 169.00 169.00 Tascr+/Floa+Giller 1.00@ 254.00 Centralizer 7.00@ 51.00 357.00 Basket 1.00@ 169.00 169.00 Tap Plug 1.00@ 62.00 62.00 TOTAL TOTAL RANSAS CORPORATION COMMISTOTAL CHARGE DISCOUNT IF PAID IN 30 DAYS MAR 0 9 2009
CHARGE TO: Lebosquet STREET CITY STATE ZIP To Allied Cementing Co., Inc. You are hereby requested to rent cementing equipment and furnish cementer and helper to assist owner or contractor to do work as is listed. The above work was done to satisfaction and supervision of owner agent or contractor. I have read & understand the "TERMS AND"	DEPTH OF JOB 2960 F+ PUMP TRUCK CHARGE 2011.00 EXTRA FOOTAGE @ MILEAGE 25 @ 7.00 175.00 MANIFOLD 1 @ 113.00 113.00 @ TOTAL 2299.00 PLUG & FLOAT EQUIPMENT Guide Shoe 1.00 @ 169.00 169.00 Tascet/Float Glar 1.00@ 254.00 254.00 Centralizer 7.00@ 51.00 357.00 Basket 1.00@ 169.00 Tap Plug 1.00@ 62.00 62.00 TOTAL 1111.00 TAX KANSAS CORPORATION COMMINTOTAL CHARGE MAR 19 2000



24 S. Lincoln Street P.O. Box 31 Russell, KS 67665-2906

Voice:

(785) 483-3887

Fax:

(785) 483-5566

Bill To:

John W Lebosquet Gas Operations 125 N Market Suite 1130 Wichita, KS 67202-1774

INVOICE

Invoice Number: 117530

Invoice Date: Dec 9, 2008

Page:

1

Customer ID	Well Name# or Customer P.O.	Paymen	t Terms
Lebos	Anton #3	Net 30	Days
Job Location	Camp Location	Service Date	Due Date
KS1	Liberal	Dec 9, 2008	1/8/09

Quantity		Description	Unit Price	Amount
150.00	MAT	Class A Common	15.45	2,317.50
11.00	MAT	Chloride	58.20	640.20
175.00	MAT	Lightweight Class A	14.80	2,590.00
44.00	MAT	Fio Seal	2.50	110.00
347.00	SER	Handling	2.40	832.80
32.00	SER	Mileage 347 sx @.10 per sk per mi	34.70	1,110.40
1.00	SER	Surface	1,324.00	1,324.00
32.00	SER	Mileage Pump Truck	7.00	224.00
1.00	SER	Manifold & Head Rental	113.00	113.00
4.00	SER	Stand By Time	250.00	1,000.00
1.00	EQP	Guide Shoe	282.00	282.00
1.00	EQP	AFU Insert	377.00	377.00
4.00	EQP	Centralizer	62.00	248.00
1.00	EQP	Basket	248.00	248.00
1.00	EQP	Top Rubber Plug	113.00	113.00
		·		
			٠.	
ALL PRICES AF	RE NET. PAYABI	E Subtotal		11 529 90

ALL PRICES ARE NET, PAYABLE 30 DAYS FOLLOWING DATE OF INVOICE. 11/2% CHARGED THEREAFTER. IF ACCOUNT IS CURRENT, TAKE DISCOUNT OF

\$ //52 99

ONLY IF PAID ON OR BEFORE

Jan 8, 2009

Subtotal	11,529.90
Sales Tax	401.69
Total Invoice Amount	11,931.59
Payment/Credit Applied	
TOTAL	11,931.59

RECEIVELY KANSASCORPORATION COMMISSION

MAR 0 9 2009

CONSERVATION DIVISION WICHITALKS

ALLIED CEMENTING CO., LLC. 30442

REMIT TO P.O. BOX 31 RUSSELL, KANSAS 67665	SER	VICE POINT: LBENGL KS
DATE 12-9-08 SEC. 30 RANGE 34 W	ALLED OUT ON LOCATION	JOB START JOB FINISH
LEASE ANTON WELL# 3 LOCATION SATE	TAKS B1220	GOUNTY STATE
OLD OR NEW (Circle one)	· · · · · · · · · · · · · · · · · · ·	
CONTRACTOR TRIPLE 208 TYPE OF JOB 772 5-RFACE	OWNER SAME	
HOLE SIZE /24 T.D. 666	CEMENT	/ ///
CASING SIZE 873 24 DEPTH 668	AMOUNT ORDERED //	SIL 65/35 6 66E
TUBING SIZE DEPTH DRILL PIPE DEPTH	3% CC /4 1/5K Ple	
TOOL DEPTH	150 A 3% C	. 4
PRES. MAX MINIMUM	COMMON_150	@ 1548 231750
MEAS. LINE SHOE JOINT	POZMIX	@
CEMENT LEFT IN CSG. 4	GEL	
PERFS.	CHLORIDE C.C. 1/3/	@ 53 10 640 10
DISPLACEMENT	ASC 175	-@
EQUIPMENT		_@ 1930 2590 =
PULL OF TRUCK OF A CO	FLOSEAL YU#	@ 2.50 //00
PUMPTRUCK CEMENTER BUS		@
BULK TRUCK		921
#458/467 DRIVER FARINCISCO		
BULKTRUCK		
# DRIVER	HANDLING 21/5	@ <u>240 83280</u>
	HANDLING 3/7 MILEAGE/O S/w/	<u> </u>
REMARKS:	MILLAGE 10 32 M	TOTAL 7600.40
BREAK CIA		101AL 7000.45
mix 175/15	CEDAT	
min 150 A	SERVI	ICE
Miy 150 A DROP Play + DISP CSN;		ICE
Mix 150 A Onog Mig + Oisp Lsng Amp 12 BBL + SAIT Down	DEPTH OF JOB	/22/0
No Plin Pup PER OPLEAS		/324°
No fly fly PER ORDERS	DEPTH OF JOB_ PUMP TRUCK CHARGE	/32400
No Plin Pup PER OPLEAS	DEPTH OF JOB PUMP TRUCK CHARGE EXTRA FOOTAGE	/32Ym
No fly fly PER ORDERS	DEPTH OF JOB	324°0 @ 7°° 224°° @ /13°0 @
No fly fly ten collers Lo Cut to SUNTAGE, 30 FT DOWN	DEPTH OF JOB	324°0 @ 700 224°0 @
No fly fly PER ORDERS	DEPTH OF JOB	324°
No fly fly ten collers Lo Cut to SUNTAGE, 30 FT DOWN	DEPTH OF JOB	324°0 @ 7°° 224°0 @ //3°0 @
No fly fly ten collers Lo Cut to SUNFACE, 30 FT DOWN CHARGE TO: LEBOSQUET GAS OPERATI	DEPTH OF JOB	32400 @ 750
No fly fly the college PSI LO CONT TO SUNTAGE, BOFT DOWN CHARGE TO: LEBOSQUET GAS OPERATION STREET	DEPTH OF JOB PUMP TRUCK CHARGE EXTRA FOOTAGE MILEAGE 32 MANIFOLD + HEAD Stand by hours 4	32400 @ 750
No fly fly the college PSI LO CONT TO SUNTAGE, BOFT DOWN CHARGE TO: LEBOSQUET GAS OPERATION STREET	DEPTH OF JOB PUMP TRUCK CHARGE EXTRA FOOTAGE MILEAGE 32 MANIFOLD + HEAD Stand by hours 4 ON S PLUG & FLOAT SHOP Shop	324° 224° 000° 13° 1000° 1
No fly fly the college PSI LO CONT TO SUNTAGE, BOFT DOWN CHARGE TO: LEBOSQUET GAS OPERATION STREET	DEPTH OF JOB PUMP TRUCK CHARGE EXTRA FOOTAGE MILEAGE 32 MANIFOLD + HEAD Stand by hours 4	324°° 224°° 224°° 224°° 230°° 250°° 1000°° 250°° 1060°° 250°° 26
CHARGE TO: LEBOSQUET GAS OPENTS STREET STATE ZIP To Allied Cementing Co., LLC. You are hereby requested to rent cementing equipment	DEPTH OF JOB PUMP TRUCK CHARGE EXTRA FOOTAGE MILEAGE 32 MANIFOLD + HEAD Stand by hours 4 ON S PLUG & FLOAT SHOP Shop	324/00 @ 700 224/00 @
CHARGE TO:STATE ZIP To Allied Cementing Co., LLC. You are hereby requested to rent cementing equipment and furnish cementer and helper(s) to assist owner or	DEPTH OF JOB PUMP TRUCK CHARGE EXTRA FOOTAGE MILEAGE 32 MANIFOLD + HEAD Stand by hours 4 ON S PLUG & FLOAT SHOP Shop	324° 224° 000° 130° 000° 1
CHARGE TO:	DEPTH OF JOB PUMP TRUCK CHARGE EXTRA FOOTAGE MILEAGE 32 MANIFOLD + HEAD Stand by hours 4 ON S PLUG & FLOAT SHOP Shop	32400 @ 700 22400 @ 25000 100000 TOTAL 266/ TOTAL 266/
CHARGE TO:	DEPTH OF JOB PUMP TRUCK CHARGE EXTRA FOOTAGE MILEAGE 32 MANIFOLD + HEAD Stand by hours 4 ON S PLUG & FLOAT SHOP Shop	324° 224° 000° 130° 000° 1
CHARGE TO:	DEPTH OF JOB PUMP TRUCK CHARGE EXTRA FOOTAGE MILEAGE 32 MANIFOLD + HEAR Stand by hours 4 ins PLUG & FLOA Gul B Shor A FU CENT TAKER SEW TOP PLUG	32400 @ 700 22400 @ 25000 100000 TOTAL 266/ TEQUIPMENT @ 38200 @ 37700 @ 220 24800 @ 41300
CHARGE TO:	DEPTH OF JOB PUMP TRUCK CHARGE EXTRA FOOTAGE MILEAGE Stand by hours 4 Shows PLUG & FLOAT PLUG & FLOAT FOUR SASKET SEW Top Plug SALES TAX (If Any)	324 00 00 00 00 00 00 00 00 00 00 00 00 00
CHARGE TO: LEBOSQ UET GAS OPERALTERMS AND CONDITIONS" listed on the reverse side.	DEPTH OF JOB PUMP TRUCK CHARGE EXTRA FOOTAGE MILEAGE 32 MANIFOLD + HEAR Stand by hours 4 ins PLUG & FLOA Gul B Shor A FU CENT TAKER SEW TOP PLUG	324 00 00 00 00 00 00 00 00 00 00 00 00 00
CHARGE TO: LEBOSQ UET GAS OPERALTERMS AND CONDITIONS" listed on the reverse side.	DEPTH OF JOB PUMP TRUCK CHARGE EXTRA FOOTAGE MILEAGE Stand by hours 4 Shand by hours 4 PLUG & FLOA Gul B Shar Gul B Sh	32400 @ 700 22400 @ 25000 100000 TOTAL 266/ TOTAL 266/ TOTAL 2500 @ 25000 25000 TOTAL 2500 @ 24800 # 11300 TOTAL 2600
CHARGE TO:	DEPTH OF JOB PUMP TRUCK CHARGE EXTRA FOOTAGE MILEAGE Stand by hours 4 Shand by hours 4 PLUG & FLOA Gul B Shar Gul B Sh	324 00 00 00 00 00 00 00 00 00 00 00 00 00
CHARGE TO: LEBOSQ UET GAS OPERALTERMS AND CONDITIONS" listed on the reverse side.	DEPTH OF JOB PUMP TRUCK CHARGE EXTRA FOOTAGE MILEAGE Stand by hours 4 Shand by hours 4 PLUG & FLOA Gul B Shar Gul B Sh	32400 @ 700 22400 @ 1/3 00 @ 25000 100000 TOTAL 2661 00 TOTAL 2661 00 TOTAL 27000 @ 277 00 @
CHARGE TO: LEBOSQ UET GAS OPERAL TO Allied Cementing Co., LLC. You are hereby requested to rent cementing equipment and furnish cementer and helper(s) to assist owner or contractor to do work as is listed. The above work was done to satisfaction and supervision of owner agent or contractor. I have read and understand the "GENERAL TERMS AND CONDITIONS" listed on the reverse side. PRINTED NAME Recapales	DEPTH OF JOB PUMP TRUCK CHARGE EXTRA FOOTAGE MILEAGE Stand by hours 4 Shand by hours 4 PLUG & FLOA Gul B Shar Gul B Sh	32400 @ 700 22400 @ 25000 100000 TOTAL 266/ TOTAL 266/ TOTAL 2500 @ 25000 25000 TOTAL 2500 @ 24800 # 11300 TOTAL 2600

RECEIVED DRPORATION COMMISS

MAR 0 9 2009

CONSERVATION DIVISION WICHITALKS